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2 —4.6 Test Review
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quation.

Write a sine and cosine equatlon for the gwen graph Box the penod you ‘used to wrrte your-
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9.) Write a sine and cosine equation for the g:ven graph Box the penod you used to wnte your
equation.
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Use the information to answer each questwn

f"‘qppose you are on the beach at Fort Myers, Florida. At 3:00pm, at high tide, you find that the depth of
i‘éter at the end of a pier is 14 feet. At 9:00 pm, at low tide, the depth of the water is 4 feet. Assume that
the depth varies sinusoidally with time.

a.) Find an equation expressing the depth as a function of time that has elapsed since 12:00 am.
b.) Predict the depth of the water at 11:30 pm.

¢.) You plan to take out your boat. It is recommended the water depth be at least 8 feet. Approximately
what intervals of time can you take your boat out?
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